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1. All of the small squares given in the figure below are in the same size.Bce maneHbkue
KBagpaTbl, NPeaCTaBeHHbIE Ha PUCYHKE HWXE, UMEIOT OANHAKOBbLIN pasmep.

According to this, the sum of the areas of the coloured small squares is what fraction of the area of
the large square?

CornacHo 3TOMY, KaKylo 4aCTb njiowaan BonbLuoro KBagparta CoCTaBndeT CyMmMa nrowanen
LUBETHbLIX MalmeHbKNX KBa,El,paTOB?

A) 1 B) . C) D) E)
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2. Elif, Inci, Kayra and Zeynep are four siblings. The
following information is given about the ages of these
siblings, whose ages are 8, 13, 17 and 19.

"1 Elif is younger than Kayra.
"1 The sum of the ages of Elif and Zeynep is divisible by 5.
"1 The sum of the ages of Kayra and Zeynep is divisible by 5.

According to this what is the difference of the ages of
inci and Elif?

2. Anudp, NHpxu, Kanpa n 3enHen — yeTtBepo cecTep. Npusoauntcsa cnegyowas nHpopmMmauus o
Bo3pacTe aTux cectep: 8, 13, 17 n 19 ner.

71 Anud monoxe Kanpbl.
71 Cymma Bo3pacTtoB Inug n 3enHen genutcs Ha 5.
"1 Cymma BospactoB Kanpbl 1 3enHen genutca Ha 5.

CornacHo aTomy, YeMy paBHa pasHuLa B Bo3pacte HaxXu n dnudg?

A) 4 B)5 C)6 D)9 E) 11
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3. Maya will choose one geometric shape from each of
the followin groups.

Group 1: A4 OV
Group 2: . @ &[]
Group 3: [ @.®

How many different ways can Maya make this choice, provided that she has 3 different geometric
patternseach time?

Mas BbIGepeT Mo OAHON reoMeTpUYeCcKon ourypbl N3 KaXkaon n3 cnegyrowmx rpynn.

Mpynna 1: A, 4.1 O 7

lpynna 2: . @ @[

pynna 3: (1 @.®

Ckonbknmm pasHbiMm cnocobamu Masa MoXeT caenaTb 3TOT BbIOOp, eCnn KaXkabl pa3 y Hee
ObIBaeT 3 pasHbIX reOMeTPUYECKUX puryp?

A) 42 B) 44 C) 46 D) 48 E) 37
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4. The figure below shows the relationships of the ages of
the cousins labelled with the letters A, B, C, D and E

with arrows.

A =» B means the cousin A is older than the cousin B.

Ha pucyHke Huke nokasaHO COOTHOLLEHME BO3PACTOB [4BOKPOAHbIX BpaTbeB, OTMEYEHHbIX
oyksamn A, B, C, Dun E.
A = B o3Hauvaert, 4To ABotopoaHbIn Bpat A cTtaplue gsotopogHoro 6para B.

AN

D 7

Considering this diagram, if one orders the cousins
from younger to older, which one will be the 2nd
person from the beginning?

YunTtbiBas aTy Avarpammy, ecriv pacrornoXxuTb 6paTbeB OT MNaALLEero K cTapluemy, KTO U3 HUX
OyneT BTOpbIM C caMoro Havana?

A) A B)B C)C D) D E)E
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5. The diagram below numbered points are connected by the line segments. In addition, every 14

points repeat themselves in this diagram.
Ha cxeme Hmxe NpoHyMepoBaHHbIE TOYKN COeAMNHEHbI OTpe3kamu. Kpome Toro, Ha aTon

anarpamMme Kaxxable 14 TO4ekK NOBTOPAKOTCA.

2 5 7 8 10 13 15 18

1 3 4 6 9 11 12 14 16 17

According to this, which of the following is the diagram that includes the points from 2022 to 20257
CornacHo aTomy, Kakoe M3 NepedYncrieHHOro ABnsieTcs anarpaMmmon, BKItoyarLwen Todkm ¢ 2022

no 20257
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The circumference of the blue triangle given above is 29 cm and the circumference of the red, eq-
uileteral, triangle is 42 cm. It is known that one of the length of the side of the blue triangle and the

length of the side of the red triangle is equal to each other.
What is the perimeter of the quadrilateral obtained by matching these equal sides?

[MepumeTp NpuUBEAEHHOrO BbILLE CUHEro TpeyrosibHUKa paseH 29 cM, a nepuMeTp KpacHoro
pPaBHOCTOPOHHErO TpeyronbHuka — 42 cM. I3BeCTHO, YTO ogHa U3 ANWH CTOPOHbI CUHETO

TPeYroribHWKa U AnHbI CTOPOHbI KPACHOTO TPEYronbHUKa paBHbl APYr APYTY.
Uemy paBeH NepuMMeTp YeTblpexyroribH1Ka, Nofy4eHHOro B pesynbrate COBMELLEHUS 3TUX PaBHbIX

CTOPOH?

A) 50 B) 43 C) 41 D) 39 E) 36
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7. It is known that the number of spectators who come to watch the basketball team play in a

school is greater than 500 and less than 700. It is also known that the number of spectators is an
even number with different digits.

According to this, how many different values can the number of spectators take?

3BECTHO, YTO KONNMYECTBO 3pUTENEN, NpULLeaLnX NOCMOTPETb Urpy 6backeTtbonbHOM KoMaHabl B
wkone, 6onbwe 500 n meHbwe 700. N3BeCcTHO Takke, YTO KONMYECTBO 3puUTenen npeacraBndet
cobor YeTHOE YMCIO C pasHbIMU Lndpamu.

B cooTtBeTCTBUMK C 3TUM, CKOSTbKO pa3nn4yHbIX 3HA4YEeHUN MOXET NMPUHUMAaTb KOnn4ecTBoO 3p|/1Ter|e|7|?

A) 36 B) 42 C) 56 D) 72 E) 92

8. Using 9 identical cubes, the following figure is obtained.
N3 9 ogmHakoBbIX KyGUKOB nony4vaeTtcs cnegyrowas durypa.

Taking which of the numbered cubes will not change the surface area of the figure?

Kakoe 13 npoHyMepoBaHHbIX KyOMKOB MOXHO B35iTb, YTOObI Nfowagb NOBEPXHOCTM Urypbl HE
U3MEHUNocb?

A)1,2 B) 2,3 C)3 D) 4 E)2




I LRADE - b

9. Ahmet has 86 blue marbles, 52 yellow marbles and 106 green marbles in his bag. Ahmet wants
to distribute all of these marbles to each of his friends by giving one marble of 2 different colours to
each of them.

According to this, how many friends of Ahmet have yellow and green marbles?

Y AxmeTa B cymKke 86 CUHUX LWIapUKOB, 52 xenTbiX wapuka u 10 3eneHbIX WwapukoB. AXMeT XodeT
pasgaTb BCE 9T LLAapUKN KaXX4OMy U3 CBOUX APY3EeN, NogapUB KaXO0MY U3 HUX MO 2 LWapuKn
pasHbIX LIBETOB.

CornacHo 3ToMy, Y CKOMNbKUX Apy3en AxmeTa OyayT XKenTble U 3eMneHble Lapukm?

A) 46 B) 36 C) 28 D) 24 E) 22

10. When identical glasses are nested, the distance between the tops of the two glasses is always
the same.

Ecnu ognHakoBble cTakaHbl 6yayT BNoXeHbl ApYr B Apyra, paccTosiHe Mexay BepxyLukamu AByX
cTakaHoB 6yaeT 0AUMHAKOBbIM O4VMHAKOBbIM.

Figure-1 Figure-2
PucyHke-1 PucyHke-2

79 em 87 cm

The height of 21 glasses in Figure-1 is 72 cm and the height of 26 glasses in Figure-2 is 87 cm.
According to this, how many cm is the height of 100 nested glasses?

BbicoTta 21 ctakaHa Ha pucyHke 1 cocTaBnser 72 cMm, a BbicOTa 26 CTakaHOB Ha pUCyHke 2 — 87
CM.

CornacHo aTomy, CKOnbKo cM cocTaBngaeT BbicoTa 100 BNOXEHHbIX APYr B Apyra CTakaHOB?

A) 294 B) 297 C) 300 D) 306 E) 309
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11. Five books that Onur wants to buy and their prices are shown in the table below.
MaTb KHUI, KOTOpble OHYP XOYEeT KynNuTb, U UX LEHbl YKa3aHbl B Tabnmue Huxe.

Perili Késk 70t
Guliver'in Gezileri 90t
Pinokyo 80t
Kiiglik Prens 60%
Nasreddin Hoca 5%

Onur’s money is not enough to buy any four of the books, but it is enough to buy any three of
them.
According to this, how many different natural number values can Onur’s money be in terms of £7?

HeHer OHypa HeagoCTaTOYHO, YTOObI KynnTh NoBble YeTbIpe KHUMM, HO AOCTAaTOYHO, YTOObLI KyNUTb
nobble Tpw.

B cooTBETCTBUM C 3TUM, CKOMbKO PasfnnyHbIX HaTyparbHbIX 3HAYEHUN MOryT UMeTb AeHbrn OHypa
B £?

A) 39 B) 40 C) 41 D) 42 E) 43
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12. “In a triangle, the sum of the lengths of two sides is greater than the third side.”
Below is a sketch of 4 villages and the distances between the villages. It is known that the distanc-
es between these villages are integers.

«B TpeyronbHWke cymma AnnH ABYX CTOPOH GonbLUue TPETbEN CTOPOHbIY.
Hwxe npeactaBneHa YepTExX YeTbipex AepeBeHb U PacCTOSHUI MeXay HUMU. N3BECTHO, YTo
PacCTOSHMSA MEXAY 3TUMUN AEPEBHAMM Lienble Yymcna.

B

i

22km __— -4 km

N
oy

According to this, what is the distance between the village A and the village C?
CornacHo aTomy, 4eMy paBHO pacCcTosiHue mexay aepesHen A n gepesHen C?
A) 17 B) 18 C)19 D) 20 E) 21
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13.

*E

*F

I D BC] = |CD| = DF|
*C
*B

A

The figure above consists of unit squares.
If which of the points B, C, D and E is connected with the point A, the figure will be divided into two
parts with equal areas?

PuUcyHoK BbilLe COCTOUT U3 eANHUYHBIX KBaapaToB.
C kakmm n3 Todek B, C, D n E Hapgo coegmHuTb TOUKy A, 4TOObI courypa pasgenunach Ha ase
YacTu ogMHaKOBOW nnowiaan?

A)B B)C C)D D)E E)F

14. In a class, boys shook hands with each other and girls shook hands with each other once. The
number of handshakes of boys is 15 more than the number of handshakes of girls.

Since the number of boys is 3 more than girls in this class, howmany students are there in this
class?

B knacce manb4mku ¢ Mans4mMkaMmm, 4eBOYKM C AEBOYKAMU NO OAHOMY pa3dy noxanu Apyr apyry
pykn. KonnyecTtBo pykonoxatui Mmans4mkoB Ha 15 6onblue, Yem KONMYecTBO PyKOMoXaTum
JEeBOYEK.

Ecnu konuyectBo MmanbumMkoB Ha 3 6onblue, YeM KONMYECTBO AEBOYEK, CKOMBbKO BCENO YYEHMKOB B
knacce?

A) 10 B) 11 C) 12 D) 13 E) 15




I LRADE - b

15.

Figure-2

Figure-1
J PucyHke-2

PucyHke-1

When the triangle ABC given in Figure-1 is folded along AD by holding the corner B, the corner B
comes to the point B’ on [AC].

Since m{B'EC] = 20° and m{B'ED]I = 30°, what is the
measure of the angle mM(BAD)~

Korga TpeyronbHuk ABC, nokasaHHbI Ha pucyHke 1, crubaetcsa Baonb AD, yaepxusas yron B,
yron B goxoaut go todkn B’ Ha [AC].

Ecnm m{B'ﬁC] = 20° v m{B'ED} = 30°, yemy paseH yron m{BAD)?

A) 30 B) 40 C) 50 D) 65 E) 75
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16. Natural numbers from 1 to 16 are written as follows.
HatypanbHble Yncna ot 1 go 16 3anucbiBaloTca criegyrowmm obpasom.

1 2 3 4
8 7 6 5
9 10 11 12

16 15 14 13

Select 4 of these numbers, any two of which are not in the same row or in the same column.
What is the greatest possible value of the sum of these selected 4 numbers?
Bbibepute 4 13 aTux ymncen, nobble ABa U3 KOTOPbIX HE HAXOOATCA B O4HOM CTPOKE MU B OOHOM

ctonbue.
YemMy paBHO HaMbornbLLIOE BO3MOXHOE 3HAYEHNE CYMMbl 3TUX BblIOPaHHbIX YeTbIpex yncen?

A) 39 B) 38 C) 37 D) 36 E) 42

17. The numbers written in the table below are obtained from left to right and from top to bottom,
with the number patterns increasing by the same amount at each step.

Uuncna, 3anvcaHHble B Tabnuvue HuxKe, Nosy4yarTCcsa CrieBa HanpaBo U CBEPXY BHU3, N HA KaXXO0M
Lary 4yncna yBenuyanBaroTCa Ha OOHY U TY XXe BENUYMHY.

7 22

According to this what is the number marked by the question mark?
CornacHo gaHHbIM, Kakoe YMCII0 AOSMKHO CTOATb BMECTO BOMNPOCUTENbHOIO 3HaKa?
A)7 B) 6 C)5 D) 4 E)3
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18. In the figure below, starting with the number 2 and ending with one of the numbers 4 in the

bottom row, the number 2024 will be formed.
Ha pucyHke, HaumMHas ¢ umdpbl 2 1 3akaH4MBasi OgHOM U3 Lndp 4 B HUXHEM pagy, byaet

obpasoBaHo uymcno 2024.

According by following the arrows, howmany “2024” can be obtained?
CKonbKo pa3 MOXHO nonyuntb «2024» , cnenys cTpenkam?

A) 4 B) 6 C)8 D) 10 E) 12




19. An operation is defined with the numbers in the figure as folows

Onepau,ml onpegendeTca YncriamMmm Ha puCyHke crnegyrwimm o6pa30M.

a b
— axd+bxc

c d

For example for the following figure
Hanpvmep, Ans cnegyrowero pucyHka

the operation gives the result 1X4+2X3=10.
onepauus gaet pesynsrat 1X4+2X3=10.

TURKIC INTERNATIONAL
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If for the figure the result of the operation is 68 what is the number denoted by the question mark?
Ecnu pesyneraT onepauun paseH 68, kakoe YMCno AOMKHO CTOATb BMECTO BOMPOCUTENBHOMO

3Haka?

A)9 B) 10 Cc)n" D) 12
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20. A game is called fair if the chances of any player’s winning and losing are equal to each other.
According to this, which of the following dice throwing games is a fair game? (The numbers 1, 2,
3, 4, 5 and 6 are written on the surfaces of the dice.)

A) Throwing 3 wins, the others looses.

B) Throwing a prime number wins, the others looses.

C) Throwing a number greater than 4 wins, the others looses.
D) Throwing a number divisible by 3 wins, the others looses.
E) Throwing a number less than 3 wins, the others looses.

Mrpa Ha3biBaeTCcHa YEeCTHOWN, €CIN LWAHCbhl Ha BbINIPbILW 1 NPOUrpbILL NHO0ro Urpoka paBHbI.
CornacHo aTomy, Kakasi U3 cnegyowmx urp ¢ bpocaHnemM nrpasibHbIX KOCTEN ABASIETCS YECTHOW
urpon? (Ha noBepxHOCTU UrpasbHbIX KOCTEN HanucaHbl Ynucna 1, 2, 3,4, 5n6.)

A) BbII/IprIBaeT TOT, Y KOIo Bblnagaet 3, ocTanbHble npourpbiBatoT.

B) BbII/IprIBaeT TOT, Y KOro BblnagaeT NnpocTtoe YNCJ10, OCTallbHbIE NMPOUTrpbIBatoT.

C) BbIMprIBaeT TOT, Y KOro Bblnagaet oonbLlue 4, octanbHble npourpbiBatoT.

D) BbIMprIBaeT TOT, Y KOro BblnagaeT 4ucio, KpaTtHoe 3, ocTanbHble npourpbiBaloT.
E) BbII/IprIBaeT TOT, Y KOro BblnagaeT MEHblLUE 3, ocTanbHble npourpbiBatoT.

21. The length of a side of a cube is 1 unit long. An ant walks along the sides of this cube without
passing through the same partition twice.

According to this, what is the length of the longest path that the ant can walk? (The ant can pass
through the same corner several times.)

[nuHa cTopoHbl Kyba paBHa 1 eanHuue. MypaBen xoguT N0 CTOPOHaM 3TOro Kyba, He npoxoas
ABaxabl Yepes3 OAHY W TY Xe YacTb.

CornacHo aTomMy, 4eMy paBHO HanbornbLlee 3Ha4YeHNe NyTH, KOTOPLIN MOXET NPONTN MypaBen?
(MypaBen MOXeT NpOXoAnTb Yepes OAMH U TOT XKe yron HeCKOMbKo pas.)

A) 8 B)9 C) 10 D) 11 E) 12
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22. In a class of 30 students, 3 different books will be distributed to each student. These books
belong to maths, physics, chemistry and biology courses. The books of a course are identical in
themselves .

Since a total of 25, 24 and 21 maths, physics and chemistry books were distributed respectively,
how many students did not receive a biology book?

B knacce 13 30 y4eHUKOB Kagomy ydeHuky OyayT po3gaHbl Mo 3 pasHble KHUMM. OTU KHUMU
OTHOCSAITCA K Kypcam MateMaTtuku, ousmnkm, xsummmn n uonornmn. Kuurm kypca camm no cebe
OOMHaKOBbI.

lMockonbKy B 06uem 661510 po3gaHo 25, 24 n 21 y4ebHuUK no matematumke, omusmke 1 XMMmnn
COOTBETCTBEHHO, CKOMIbKO YYEHWUKOB HE MOnyYunnm y4ebHuk no buonornmn?

A) 11 B) 10 C)9 D) 8 E) None of them
Hu oanH n3 Hux

23. If we delete 3 in the number 20312, we get the number 2012.
According to this, how many five-digit numbers are there so that by deleting one of its digits we get
the number 20127

Ecnn y6patb 3 13 yncna 20312, To nony4ntcsa Ymcno 2012,
CornacHo aToMmy, CKOMbKO CyLLEeCTBYET NATU3HAYHbIX Yncer, ecnv yopas ogHy 13 ero umdp, Mol
nony4yum ymcrno 20127?

A) 36 B) 40 C) 45 D) 48 E) None of them
Hwn ognH n3 Hnx
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At point A there is a baby rabbit and at point B there is a mother rabbit. The baby rabbit moves 3
units for each jump, while the mother rabbit moves 5 units for each jump. Both of them jump and
land at the same time.

According to this, in how many jumps will the baby rabbit and the mother rabbit meet?

B Touke A HaxoanTCs KPONbYOHOK, a B Touke B — kponbumxa. Kponb4oHOK nepemeltaercs Ha 3
€OMHULbI 3a KaXXObl MPbKOK, a Kponbvnxa nepemeLlaeTca Ha 5 eanHuy 3a kaxabi Npbbkok. OHu
oba npbiratoT U NPU3EeMNATCA 0gHOBPEMEHHO. CornacHo 3TOMY, 3a CKOSbKO MPbRKKOB BCTPETATCS
KPOJSTBYOHOK W Kponb4imxa?

A) 11 B) 12 C) 13 D) 14 E) 15

25. The rule of the number sequence whose first 4 terms are given below is as follows:
From the 5th term onwards, each term is the largest digit different from the previous 4 terms.
9,7,6, 2, ..

According to this, what is the 2024th term of this sequence?

[MpaBnno YncnoBow NocrneaoBaTeribHOCTU, NepBble 4 YrieHa KOTOPOoW NpuBeaeHbl HUXe,
cnegyoulee:

HauyMHasa ¢ 5-ro uneHa, Kaxabln YneH npegcrasnseT cobon HanbonbLLyo LUMdpPY, OTINYHAS OT
npegbiayLwmx 4 4reHos.

9,7,6, 2, ..

CornacHo atomy, Yemy paBeH 2024-1 YneH aTon nocnegoBaTenbHOCTU?

A)8 B)9 C)7 D)6 E)S




